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Read the passage carefully and give answer -
Once upon a time, in a small village, there

was a big tree. The tree was very old and
had many branches. Birds loved to live in
this tree, and children liked to play under
its shade. Every day, the children would sit
under the tree and sing songs, and the
birds would chirp happily. The tree provided
a home for the birds and a cool place for the

children to rest.
Q1. Where did the birds love to live?

(a) In the house (b) In the tree

(c) In the river (d) On the roof

Q 12.What did the children do under the tree?
(a) Sleep (b) Sing songs

(c) Dance (d) Eat lunch

Q 13.What did the tree provide to the
children?

(a) Food (b) Shade

(c) Toys (d) Clothes

Q 14.What sound did the birds make?
(a) Barking (b) Chirping

(c) Roaring (d) Meowing

Q 15. How old was the tree?

(a) Very new (b) Very old

(c) Middle-aged (d) Young
Q 16. Which of the following is the plural form|
of "child"?

(a) Childs (b) Childes
c¢) Children (d) Childer
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Q 17.What is the correct feminine form of
"actor"?
(a) Actrice  (b) Actress
(c) Actresses (d) Actoress
Q 18. Which of the following words is a
verb?
(a) Quickly (b) Running (c) Beautiful (d)
Cat
Q 19. The correct option to complete the
sentence:
"He ____ running fast."
(a) is (b) are (c) were (d) be
Q 20.Which of the following is a noun?
(a) Laughing (b) Sing
(c) Happiness (d) Quickly
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(a) 54 (b) 56 (c) 64 (d) 72
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(a) 4 (b)5(c) 6 (d) 7

Q 37. 3 Hiex § b Heiier g &2
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(a) 30 (b) 60 (c) 90 (d) 120
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(a) 10 (b) 12 (c) 14 (d) 16
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